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1 7, 34L X 477 = 26 §0,569 X L, 647 =
2 7,/ 86 X 485 = 27 4,750 X 4,052 =
3 5,850/ X F§5S = 28 /6,532 X 5,2/ 9 =
4 §,640 X (84 = 29 63,/ 70 X 6,5/ 9 =
5 3,756 X 486 = 30 /S E4TS X /X770 =
6 7,534 X SEY4 = 31 57,836 X &§7,5X4 =
7 /230 X LY = 32 SLEET X 52,7 /0 =
8 E,347 X 47 = 33 53,879 X S4,/39 =
9 4,537 97 X L/7 = 34 T7EH4ERL X 53,47/ =
10 7,48/ X 478 = 35 §&, /40 X 38, /46 =
11 2, ESY4 X &£,9/3 = 36 847/ X /6,937 =
12 6,375 X 5,/463 = 37 S/,468 X &/,273 =
13 2,754 X &,5/4 = 38 LLT70/ X JHELIEI =
14 6,438 X §,570 = 39 73,657 X 78L2/6 =
15 2,305 X §,763 = 40 50,/X7 X 923,074 =
16 2,506 X 5,647 = M| 57,853/ X LE,/53 =
17 5,34/ X [J,764 = 42| /94,572 X 928,674 =
18 5,832 X 3,804 = 3| 547,932 X 45,790 =
19 6,38 X 3,/468 = 44| 45, 7/2 X X7,73/ =
20 S, 4EL X 3,465 = 45| 478,902 X 4,857 =
21| /46,8497 X 3,596 = 46| 543,960 X &8,/20 =
22| 3490 X 7,582 = 47| 730,264 X /7,859 =
2| 92,7845 X 7,968 = 48| 70,45/ X &L3,475 =
24| /0,685 X 46,85/5 = 49 2/7,605 X S6,2/4 =
25| 38,64 X Q743 = 50| /74,374 X 98,304 =




o Abacus Clrcult FO
FRE #HIREESSD (1 & ) [BASAITE BFAIRATETA =1

1 L, 662,53/ 7 + S?/ = 26 LEE, L7 3,078 —+ 3,746 =
2 /, 597,695 —+ g2/ = 27 /E5,706,/ 9/ = >,5/9 =
3 S, 046,248 —+ L4LE = 28 L7 2,72/,7/0 5,062 =
4 /S OLT7, 534 —+ SL7 = 29 S PYU P36, 435 5,974653 =
5 /7 /6,65 + 7493 = 30 SET7, 575, L4 £,098 =
6 Y, 745,332 + S/ 4 31 L EES KL/, /L0 S0,768 =
7 LLE, /60 -+ /2O = 32 7EH4,27 3,556 S5, 207 =
8 5,687,520 —+ P A 33 S 442,677,578 77,629 =
9 E720,404 /&7 = 34 YEYLSLAE, 540 /&E,765 =
10 L, 904,245 + 205 35 S5, 0,620,659 75,073 =
11 L, 757, L0 ~ /, 034 = 36 S HSP,9ER,LOO SO0,754 =
12 L/ SR7, 55 ~ 7, /45 = 37 /S ERL,S4E, 370 SE4LF 85 =
13 §53,3/3,/59 + 2,043 = 38 SLYL, /) LEO0O4SE 75,4/ 6 =
14 SE5,208,488 ~ #4£,3/8 = 39 SEE 47,352 L3, 54697 =
15 /6,553, 7R/ + X,09/ = 40 76/,0532,36& g2/, 534 =
16 56,5/0,//8 + 7,046 = 41 LELO?, 947,259 $4 6,709 =
17 L7, 753,425 + 3, L4L7 = 42 50,7/, 643,007 SH4,RL57 =
18 3,5/ 7,400 +~ /,720 = 43 /S 3,L70,750,78&8 /3,567 =
19 SUL,7/ 4,703 + 5,745 = 44 /S E,7 7R, TR LR 47,062 =
20 50,436,056 ~ 5,347 = 45 £,700,7 7/ 444 L5,078 =
21 SLL,093,7/6 ~ 7,34/ = 46 SR, LESL, 653/, 85854 S4,308 =
22 V7L, ) 7,534 +~ 5,504 = 47 2,702,298 ,27 ¢ §5,679 =
23| 4637, 2//, 055 ~ &,/4£9 = 48 LE L/ 2,70/, %4/ 6 S/, 4946 =
24| L34,/ 785,250 +~ 2,307 = 49 £E5,859/,797,685% 76,473 =
25| /82,09 /, 245 + Z,5469 = 50 $E6,707, 552,720 7/,235 =




BOM; AD Circuit Fo = 2B%_ HBS® 58 (& B

MASTUY b acus Circuit (HAZAIE2E A-Z5EA1ETS A =
No 1 2 3 2 5 6 7 8 9 10

1 2,275 4,792 7,54 7,/ 70 2,543 2,63/ 4,725 §, 457 Y$,57 6 3,562
2 /, 785 3,/ 72 7,506 2,706 2,/ 54 - 2,25/ 4,632 L, 549 &,/ 56 /, 356
3 7,603 &, 726 7,6/ 2 §,276 3,/ 6L 5,620 8$£,798 4,698 £,57 VANV/AVAN
4 2,082 3,56/ 6,580 6,325 3,047 8,504 &,7 54 T HS? 4,29/ 72,087
5 2,446/ 2,578 2,72/ -/, 557 §,5/6 Z,925 2,759 /,R2E 7 /, 05 3,620
6 7,536 /643 /, 3469 2,275 3,/ 25 6,058 7,2/ 4 3,792 4,625 -3,086
7 7,/ 59 -5,/03 7,59/ —5,682 2,/ 73 7,60/ 4,038 5,236 2,532 b, 408
8 5,72/ -7,/58 7, 5LY §. 427 /, 7946 3,572 7,/ 70 3,856/ 2,706 —-2,087
=]

No| 11 12 13 12 15 16 17 B 19 20

1 5,328 §, 274 2,372 5,68/ 5,207 6,/ LY 5,207 5,37/ 6,729 5,772
2 #,352 — 5,429 5,/ 32 V) /34 6,8/0 b,/ LY -/, 782 5,908 5,764
3 6,570 -7, 85/ 2,748 5,308 /., 8927 -2,7203 2,602 4,35/ $,/ 79 /YRS
4 5,57/ -/, 8567 5,0/ R — 4,693 VAR 34 5,/ 43 2,768 -3, 4922 7./ 04 §, 0%
5 2,/ 0% 4,520 7,538 -5,8536 3,724 2,534 7,965 /, 678 8§,/ 25 R/ N4
6 2,576 §,6/9 &, 47/ —/,623 §,7/3 -2, 436 6,804 6,270 §, 476 -2,/ 34
7 /., 538 $4,0/ 9 2,553 2,023 7,/ 26 ®72,07 / 5. 74/ 6,0/ 3 2,756 VAR/2vx.
8 6,480 -/, 75 b, 549 -7,30 6,490 -7,68% /, 26 — 6,48/ 2,078 -3,04%
9 6,240 5,597 5,609 6,2/0 7463 2,7/ 35 5,477 3,/ 68 /, 758 2,632
10 7,/859 2,/ 78 7,356 3,072 2,63/ 2,68/ 5. L7 Y 2,547 §, 645 -3,092¢8
11 2,208 2,744 §,7 XY 3,/ 46 5,786 5,36/ 6,8/ 2 2,6/ 8 2,574 7,56/
12 3,748 3,520 7,934 5,260 7,386 - 85,3/ 6,082 2,/ 63 2,368 —4,6/8
=}

No| 21 22 23 24 25 26 27 78 29 30

1 50,675 /86,4350 29.364| /3.986| 96.476| $8.9/4| &/.769| 65.902| /8,284 &4./23
2| sr.2e0| sa.s45| as.950| wr.2ve| susv3| ss.s20| 23,764 co.s5s8| aves9| 46,8530
3 27,850 —52,607 746,089 2,854 78,672 37,854 S R2THLI| —5R, 374 $47,398 §/, 243
4 /3,675 746,389 X7, 568 —43,857 5 £7,/ 53 52,380 0,57 =/ 4,639 R,/ 4SS 75,/37
5 X3,7/5 36,289 7,325 8$2/,8536 §0, 543 78,706 70,/ X9 6,598 58,62/ 75,/ 7R
6 SO0,/ 4é| —RO, 543 /3,772 24,065 S/, 465 —R2,073 §6,74R /0,386 &/, 85085 —75,23/
7 5&6,/04% 2,270 SO 4385 —73,26/ 50,64/ —26,30X X2,/ 83 /2,783 5/, 04 =3/,62%
=]

No| 31 32 33 34 35 36 37 38 39 20

1| 24.693| 67.9/4| /8.465| 63.6/7| 24.756| 27.9/8| 73.286| 90./28| 63.456| 42.657
2| se.sus| w4562/ ve.s25| -79.658| 4s.0/2| —-98.643| s9./25| s4.287| s0.758| &7./54
3| 97.5¢0| —27.6¢3| 79,658 /5.675| 57,638 s7.506| s8.07/| &/.073| 76,984 79,542
4| so0.928| —2v.475| /9782 sr.2c0| ss.269| —s6.024 se.s89| 4092 ss.075 s2.589
5| 79.6¢2| aw.é93| swoss/| vr.s02| vauss| ve.2s50| ss.cue| —28.545| s2./97| ¢9.840
6 | 27.6¢3| so0./737| s9.582| 25.7/5| 25.896| 25./88| s9.206| -v8.762| v2.864| /é.094
7 ROHYT7El =7 2,862 72,08/ =/ 2,75 3,285 §4,256 70,65/ 42,280 50,6/8| =75,086
8 57,/ 42 27,560 78,723 SL,08/ §&5,26/ 47,8538 2,740 /2,386 70,548 —47,225
9 60,/ 37 56,/ 48 76,9850 —76,8525 546,239 /S EHTS /34857 52,086 37,8/ 6 37,540
10 23,62/ 57,/ 4R L7647 20,87 & 38,692 /3,598 68,742 §0, 745 Y359/ =/ 2548
=}

No| 41 42 43 44 25 46 47 8 49 50

1| 56,960 76.240| 96.67/| 48.793| 24.5/3| $&.729| 53.648| 97.6/4| #49.068| 6%.0/4
2| ss.936| —39.256| s9.628| 87,563 s9.4s8| —v8.552| s2.649| s7.096| 9s.048| 98,575
3| 4895 26.7/0| €35.975| -v0.359 2236/ s2.5/9| 42,787 —s0.852 3642 20,48
4 73,6/ 2 —685,503 4,0/ 7 8$2/,697 77,388 72,034 20,6/ 5 LL,EET £E0, 83/ —=&80,9/6
5 S50,478 —/7,653 78,309 /3459 26,504 XELET 50,746 S4,50RX §6,7L27| —75,286
6 7/, 57 R §$&,79/ X/, 370 § 5,403 £E8,73/ 36,758 ST, 348 =/ 3,549 /5,384 72,306
7 4,308 72,05/ /3,859 XE,/ 65 346,528 27,230 /O0,7 23| —/4,0X7 X2, 8530 X2, 5/ 7
8 REELS| —E65,743 4,20/ 37,585X S4,6X0 /T4 ES 6,70/ —9R,/35 23,784 —4£3,520
9 70,6/5 70,42/ Z/,352 —/0,9768 74,208 YVR/VAN &2, 84/ X7,8/0 E8, 3857 —4/,750
10 78,408 592,32/ RO, 263 —57,762 729,/ 75 7/408 30,2796 26,04 /7,380 Z/,579
11 75,983 =80,/ 4 £3,752 —59,/3X ZE,07R| —RX7,563 5,824 L7456 23,54 —70,36K2
12 27,/ 36é 57,09/ 20,7 4R 2/,506 38,2085 —2/,8572 73,064 XO,7 /& X0,/ 56 RE,E /Y
13 /T RYELT $2/,265 #73,6/8 43,697 §0,724| —50,85679 72458 §9,/3% 58,062 72,68
14 0,79 bR, 843 26,437 592,854/ £E8, 524 —58,0/3 56,792 X/, 607 3L,678 6/, 8504
15 77,0/ R 7/,062 79,5/ 6 £E8,520 3,20/ /TG ES S/, 477 —83,642 45,608 §7,26Y%
=]




Lo Abacus Circuit FO &x
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3,061,614 213,427,281 6,809 67,823 48,322 155,189
3,485,210 262,367,000 3,795 47,089 14,531 364,187
4,948,253 86,280,508 4,701 34,705 49,727 107,154
5,909,760 411,935,610 3,184 32,691 41,750 288,074
1,825,416 21,275,970 3,482 60,278 33,666 196,049
3,661,056 5,177,710,064 9,238 87,215 9,972 487,429
361,620 768,986,190 2,043 21,708 42,807 270,015
5,400,509 4,533,325,181 5,780 76,082 21,554 503,776
937,223 4,089,569,022 3,692 23,956 43,938 184,710
3,575,918 3,285,896,440 7,629 69,523 15,653 547,231
25,259,442 1,159,693,327 2,860 46,825 64,594 91,854
33,017,385 3,153,598,764 2,985 50,126 33,221 570,213
25,150,356 354,681,659 9,213 10,928 79,298 274,086
55,302,420 7,325,475,912 8,316 15,208 18,100 629,305
20,659,715 4.665,520,398 7,931 18,324 66,414 209,427
15,845,482 (14,916,332,143 8,043 603,951 21,301 841,750
9,421,524 19,199,197,528 8,609 601,973 73,760 315,726
22,184,928 [25,089,806,280 2,045 978,164 11,722 910,424
19,761,984 (25,143,863,472 5,861 356,810 74,920 234,739
12,065,130 [16,693,087,014 9,468 267,198 37,350 844,338
60,589,004 [37,054,555,200 43,876 594,123 379,577 172,622
246,339,180 |[16,644,283,488 12,783 479,806 190,073 791,641
739,032,525 |(42,556,877,225 78,195 346,271 296,553 282,824
72,818,275 [12,344,875,470 68,140 862,314 136,181 836,120
105,945,632 (17,143,431,168 73,605 936,472 421,843 240,113




